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51. Name the author of Mere Rahan
De Rang.

(a) Bawa Balwant
(b) S. S. Wanjara Bedi
0 (c) Prof. Puran Singh

(d) Balwant Gargi

52. The International Day of Yoga is
celebrated across the world
annually on

(@) 19th June
(b) 20th June
(c)/ 21st June
(d) 21st July

53. World Environment Day is
celebrated on every year.

(a) Sth May
(b) Sth June
(c) 6th May

(d) 6th June

54. Which Indian has Dbeen
nominated by the US President
Joe Biden to lead the World
Bank?

(a) Indra Nooyi
(b) Raghuram Rajan
(c) Satya Nadella

(d) Ajay Banga

PART—B/3<"—B
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57.

58.

59.
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55.

56.

Where will the next Olympics
games (2024) be held?

(a)
(b)
(c)
(d)

Paris

India

England

Russia

Sunil Chhetri is associated with
which game/sports?

(a) Cricket

(b)
(c)
(d)

Hockey
Football
Kabaddi

The famous Puranchand Wadali
is associated with field.

()
(b)
(c)
(d)

Dance
Music
Business

Education

Name the city which was host to
the (G-20) 2nd Education
Working Group (EAWG) meeting
from 15-17th March 2023.

(a)
(b)
(c)
(d)

Amritsar

Bathinda

Patiala

Pathankot

In which category, the movie
‘RRR’ won the Oscar Award?

(a)
(b)
(c)
(d)

Best Screenplay
Best Sound Mixing
Best Original Song

Best Picture

55.

56.

57.

58.

59.

(@)

gy ifZHa

péis &=dt fam ¥ &8 Hifuz 37
(a) faae

(b) Tt

(c) ScE™®

(d) =t

Hefu3 I3

3\

(b) Hefl3

(c) =Jgd

(d) frfimm

Er "fgg T W oF, A s 15-17
H'99 2023 § (G-20) g+t WgaHs|
Z9fdar gy (EAWG) Hifdar <t
Hagrat it

U39 38

(b) =f&3T
(c) ufomsr
(d) UaEAe
fe3H RRR’ & fam {2t &9 »a
w93 fifanr

(a) HFe Welts ud

(b) SWe wg3 fHafifar
(c) §ﬂ'€‘tr88ﬁ3

(d) e IR
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Name the person who was

60. L e 60. OF fonagdt e aH ©H, fam 3
posthumously conferred ‘the
Padma Shri award for his 2?23 BEl, U9 w3 @_Eﬁial € ‘3’303
contributions in the field of trade f39 BH € Waes Bt Has Bud3
and industry for 2023. UoH Ffr ugHag I3 faprr H
(a) Cyrus Mistry (a) AegH A3t
(b) Bappi Lahiri (b) S shh
(c) Rahul Bajaj (c) IS TTH
(d) Rakesh Radheshyam (d) TIH TUH TaTH=BT
: Jhunjhunwala ' ST S5
61. Which of the following towns is 61. J5 fofimy 1:%'6’ CoE 5..I|‘213 gcH's
known as nursery of football? dt sgRdt = Afen Aer 92
(@) Gurdaspur (a) drdEHUT
(b) Mahilpur (b) HTfI®yd
() Mukerian (c) HoghoT |
(d) *Fazilka (d) efaSa 1
62. Mahé.raja Ranjit Singh belonged 62. HIIH" g=d13 fHw fHas ?;rg:
| to Misl. HET YD °s| i
(a) Ahluwalia 5 R 4 |
- (b) Shukerchakkya (b) é’aaﬁa‘lw
(c) Kanhaiya © SRE'W
(d) Ramgarhia (d) EI’HEI—Q‘TW
63. The total area of the State.of - . -
Punjalis 63. U9 IH ¥ IS ¥39es _ JI
(a) 48,362 square kilometers (a) 48,362 T fadHieq
(b) 49,362 square kilometers (b) 49,362 =TT fadHieg
(¢) 50,362 square kilometers (c) 50,362 =T faBHteq
(d) 51,362 square kilometers (d) 51,362 T3 fadHteg
/1-B (14) 1
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64.

65.

66.

67,

/1.B

Which of the following is the other .

name of Harappan Civilisation?
(a) Indus Valley Civilisation

(b) Egyptian Civilisation

(c) Vedic Civiliéation

(d) Mesopotamian Civilisation
Who founded the Mauryan
Empire?

(a) Nanda rulers

(b) Samudragupta

(c) Ashoka

(d) Chandragupta Maurya

Where is Sanchi Stupa situated
at? :

(a) Near Jammu
(b) Near Bhopal
(c) Near Chennai

(d) Near Jaipur

Where did the Revolt of 1857
start?

(@) Delhi
(b) Ambala
(c) Meerut

(d) Firozpur

64.

65.

66.

67.

fogst fod IauT AfewsT = o a7
fagar 97
a) fAT wt <t wfniar

(b) fHrg <t Afgnzr
) 2fed Afonzr
(d) ARUSHIT & Afenzr

Hdtom AHIH &t Aevs fam 3
CIEi R

(a) &< A
(b) AHEIIUI
(o MES

(d) TSIz Hfgmr

At A3y fag mfgg 32

(a) #y T B3I

(b) BT X

(c) S5t 2 33

(@ T T &

1857 ¥hift o fewdg f4d w3
oo | :
(a) fost

(b) wiErgr
(c) WIS

(d) fedwmyg

(18)
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ardt #t B ufaddt =g Afswmapfa 4@

68. Where did Gandhiji use 68.
Satyagraha for the first time? iz
Indi
(a) India @)
b) South Africa o
1o - (b) THST wigdlar
. (c) South America w | -
e - (c) TYE mHdta
(d) England .
(d) féards
69. was the moderate leader of ; : ﬁ
Congress. 69. JiggH @ &9H fardt &3
bail
(a) Lala Lajpat Rai
(a) BB FTHYI IE
(b) Bipin Chandra Pal
(b) fafus Jeg us
(c) Bal Gangadhar Tilak: _
(c) ¥ diarug f3sa
(d) Gopal Krishna Gokhale
(d) IS fFEs Jus
70. What is the percentage of . . _ :
nitrogen in the atmosphere? 70. SY-H3S IES ?’S'E!EHES | LHTFTS’B"
fdat 37
ola) 21%
: (a) 21%
(b) 78%
, (b) 78%
(c) 84% (© 84%
(d) 87% (d) 87%
,71. Petroleum is also famous as 71, SIS, = < HEgT JI
(a) Mustard oil (a) T-l'a' T IB
(b) Coconut oil (b) &ES T 3IB
(c) Crude oil (@) o9 IV
(d) Petrol (d) U3 |
/1B | (16)
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72. Which of the following is the | 75, fora & Mt =¥ H9 3 W a5 I3
most common cause of goiter? ot 35 £ 30
Vitamin D deficienc
i d (a) featvs &
b) lodine deficiency
( b) nfeGHs
(c) Calcium deficiency
(c) aSHH
(d) Iron deficiency |
(d) wfegs St ft
73. What does GST stand for? 73. fhaEd = f%’ﬂ'f‘sg 5 ft 37
(a) Goods and Sharing Tax (a) =WI W3 Tifdar 295
(b) Good and Silent Tax (b) o w3 i By
(c) Grand Services Tax ) ETIg fofirr Sam
(d)/ Goods and Services Tax () 5 b 9D Heret Sk
74. Which Government authority 74. fagdt Aot wEgdt g9z &4
issues the currency notes in FIH B2 7t F9t 30
India?
: (a) W & wg fédnrr
(a) The State Bank of India
b H3gsT
(b) The Ministry of Home Affairs (b) a[&r
c) I3t fowa=
(c) The Reserve Bank of India () &
d o
(d) NITI Aayog (d) &
75. ChatGPT f€a aast g4t (Al) Y8
75. ChatGPT is an artificial d 8 g foafis 3T fam
intelligence (AI)  chatbot 3 -
developed by
(a) Google (@) IS
() OpenAl (b) SuzsEnrel
(c) Wipro () Toud
ld) Apple (@) W
/1-B (17) [P.T.O.
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76.

77.

78.

79.

C

Find the mis-spelt word from the following :
(@) Fyrniture

Mphabate

(c) Dozen

(d) Office

Give one word substitution for the following :
A list of name of books

(a) Index

(b) Content list

(c) Catalogue

(d) Itinerary

Which one of the following is correct?

(a) These cattles are mine

({Mhese cattle are mine

(c) These cattles is mine

(d) These cattles was mine

All that glitters not gold.

(a) Was
(b) Is
(c) Wil

(d) Shall

/1-B
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80. If she wins the match, she get a lot of money.

(a) Was

(b) Should
© Is
C(d) Will
81. Change the voice :
They did not listen to me.
| (a) They do not listen to me
‘19)/ I was not listened by them ]

(é) [ am not listening to them

(d) They are not listened by me

82. Change the narration :
Radha said, “I am going home now.”
(a) Radha said that she will going home then
Q))/ Radha said that she is going home then
(c) Radha said that she was going home then

(d) Radha said that she was going home now

83. Rewrite the following by using the Present Perfect Tense :
We _____ each other for past ten years. (know)

) Have known
(b) Had known

(c) Were known

Have been knowing

/1-B , (19)
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84.

85.

86.

870_.

Fill in the blank with the suitable word from the given options :
Can you this stick?

(a) Brake
(b) Break

9/ Broke

(d) Bleak

Choose the one which best expresses the mea_ning of the idiom :
“Apple of one’s eye” :

(a) Cheap thing
(b) Fruit

(c) Eye flu

(d) /Valuable thing

Out of the given alternatives, choose the word which is opp051te in meaning
to the given word :

DEEP
@Kouow
(b). Profound
(c) Shallow
(d) Willow

Out of the given alternatives, choose the word which is same in meaning or
nearest in meaning to the given word :

VACANT

(a) Full

(l:\)%/acation

(c) Decorative

(d) Empty

/1-B
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(d) Ifter

89. ‘T=’ Wyw -&r ég—ea?s #ft 37
(a) Trgrar
(b) T=EHF

(c) T

(d)/‘a-e'r%*

90. ‘BIar HIT ut W fapur’ =g = f8a 998 I gos T WAt T <
(a) _Baﬁrwwa‘hﬁar%
(lym-ww@riﬁm

(o) BIfamt & AaT Ut Ut fam

MWML&W

/1.B (21)
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91. fags mue ‘I’ wew T AHOWIEY HEE &t 7
a) 9T IHIT |
(b) =gt
(¢) Y3& fegw

d) 3ar

92. Wt mee-77 v
()/ Ba=t
(b) et
(c) o
(d) B
93. J5 fou =y &9 fafonr wae 3 .
(a) dhx
(b) AT

(€ f<
(dy "3
94. ‘@3z’ WewT w fegugEq Huw fao3™ I7

(@) YHAT
(b) fA=3

(c) et
(@ Tofenr
-B

1 (22)
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ﬁmwﬁéﬁa?ﬁwa"rm Folklore’ € wdd" & Ydeger J7?
(a) BI/HE3T
(b) BI-Trgr

() SI-uz

9/ #3-aft

96. MIPT BT U I35 THT TEt fEx Huw 9@ .
(a) ISH
(b) TIHS

() "MeH

(dyéﬁwmcr

97. Ho'=q" ‘Jet fag GHgs’ =t ga=t »IE T< :
() /RIHt WTHT g BIort
(b) T=r 1S9 38 w foane 9o

(© 593 G o

(d) far = fagas 3w & S

.

S

[P.T.O.
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98. “7d aet yay w maH He' AA T wrfenrr, myEinrt Hg-wg & yw g 397 €9

OF wet faagr wyre Zgfo™ A=A ?
(a) Tet Hiwgt S99 ABET
(b) 3 9 ug gt ¥ WIS &1 A

(©) 83 <t va Jies

@(d) I Iort a2 AT

99,

100.

‘g7 23T BT o g5 TH' A HEE §<S ¢

(a) =t
(b) €J9
(c) gt

/

(d)

‘T Ug39 B9 I 55 TET 7R HEE TS ¢

(24)
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101.

103.

104,

If 22% of x=30% of y, then y: x
is equal to '

(a)
(b) 15:
()
(d)

16.:.11
14
17 :16

11:15

102. A train of length 350 m crosses a

bridge of length 250 m in
20 seconds. What is the speed of
the train (in km/h)?

(a) 95
(b) 72

(c) 108

) 88

A bus covers a 60 km distance in
1 hour 30 minutes, whereas the
same distance is covered by a car
in 45 minutes. What is the ratio
of the speed of the car to the
speed of the bus?

(a 2:1

(b) 1:5

{¢) -348

(d S5:3

If the average of 7, 11, 15, x, 14,
21, 25 is 15, then the value of x is
(@) 3

(b)
(c)

145
12

L4 133

101. 799 x €@ 22% = y¥ 30% J, I

102, 350 Hieg Bt fea 5 250 Hieg 39

103. fég 91 1 w2 30 fe 1S9 60 fanft

A a -
104.7, 11, 15, x, 14, 21, 25 € WH3

y:x THE A I7?
(a) ¢ 11
(b) 14
(c) 16
(d) 15

15
15:
174
11:

ys § 20 Afds <9 yg a9<t 91 T
&t gg3 (faft e f&9) ot 37
95
72
108
88

&t gft I a5t 9, 7 fa w8t A
gdt fea a9 omar 45 fiie fS9 3
didt 7t 31 F9 <t 9839 W3 §R
&t 9839 = wigu3 &t T2

(@ 2:1
(b) 1:5
(¢ 3:5
(d 5:3
o "

159, 3 xT" ws ft 39
(a) 3
(b) 14'5
() 12
(d) 133

P

(25)
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105. The perimeter of a Square is

106.

107.

equal to the perimeter of a
rectangle. The perimeter of the
square is 40 m. If the breadth of
the rectangle is two-third of its
length, then what is the area
(in m? of the rectangle? |

(@) 100

(b) 96
(c) 84

(d) 121

Four numbers have been given,
out of which three are alike in

some manner and the fourth one
- is different. Choose the odd one

out.

(2)

(b) 23

19

(c) 45

(d) 83

From the given four words, which
word will come in the last in an
English dictionary?

(a)

(b)

Pragmatic
Protect
(c) Pastel

(d) Peacock

105. ¥ =gar = ufomy &g »fes

106.

107.

UfaHmy @ 9999 1 =91 =7 UfgHy
40 m J1 79 »rfes <t I3 fen
&t St @ 9-f3grdt 3, 37 wifey
T 43985 (m2f39) ft I7?

(a) 100

(b) 96
(c) 84

(d) 121

fow a7 far gu f<u féa g 8 »3
g7 g ST J1 /T § TS ¢

(@) 1974, %

236/'
}

(c) 454\

(b)

(d) 83«
nargHt fsawsdt g »nfte f—é'?!J
WIS ?
(a)

(9)/ Protect

(c) Pastel

Pragmatic

(d) Peacock

/1-B
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"L o

Cwp—

108. Choose the odd one out from the 108, i3 a2 fagmy’ f&d 249 § 9 -

given alternatives.

(a) Asia (a) EHImT,
(b) Europe‘ @ gau - ’
@ Australs ‘ (c) MHGHMT
(d) Arctic | | (d) wrIdfea

109. If K denotes ‘<, T denotes “’, V 109.75d K ¥ § @am@er 3, T + &

denotes ‘+’ and R denotes ‘-’ 0 2
’ ‘+’
then 16 V24 TSR6T2K 3 =2 e 3,V ¢ TIREE InY

R “'§ S9AEE J, 3
(@) 10 - 16¥241‘8136_1‘2§3=?
(b) 11 | | a) 10 |
(¢) 12 (b) 11
B (d 13

110. P is the brother of D. X is the

sister of P. A is the brother of F. F 110. PDT 397 J| X Pt 3= 31 A For
is the daughter of D. M is the

father of X..Wha is the suncle ol I 3 FDAR & J1 MxT g §
AT IuTde J7 e )
@ F | | D@;ﬂ. W7

(a F . 7
b) M ™
(b) (b) M @ / N
) P _ M/’P ‘.5(7‘“

(d) X d X

111. Find the missing alphabet in the 111. 53 H &9 ofH T® =gons @
given sequence : -

"ig § 897
Z,X,V,T,?,P,N Z,X,V,T,?2,P,N
@ s (@) S
(b) R J,bVﬁ
(C) 1§ : ' (C) )
@ o d Q
- T [P.T.O.
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112. Select the one which is different 112. S ffg g A gA Ao g S 2497 I ;
~ from the other responses.
(a) DFH
() DFH
(b) JLN .
(b) JLN |
Ws
(¢ QRS
‘ (d) Uwy
(d) UWY
113. 83 ¥/ 93 3w f&9 COMPUTER]'
113.'£:nO a certain code 'linguage ?5 RNLOTSDC fsfimm iar 3”
MPUTER is written as s . A o
RNLOTSDC. How will MEDICINE MEDICINE § 87 a3 g7 f<9 fag
be written in that code language? fafipar T-Fé’clT’?
(a)  EDCHBHMM J(}/EDCHBHMM
(b) LDCHBHMD - p(b) LDCHBHMD

(d) EFEJDJOM (d) EFEJDJOM

|
- . g |
114. 60 foradt® &t I39 fa9, s=F

114. In a row of 60 persons, Ganesh is

26th from the left end. Find out vy fA9 3 262 AE'S '3 I WY ﬁ:ﬁ"l.
his position from the right end. 3 Br<dt vfedt = u3T BTG - :
- ')—£ .

(a) 35 (8} 35 t—

(b) 36 (b) 36

(c) 34 (o) 34

(d) Cannot be determined (d) fsauas &t 3T 77 waer |
: b

/1-B (28)
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115. Which symbol is used in MS-
Excel to begin a formula or

function?
(@ $
(b) @
(c) =
(d) #
116. Which of the following

statements is/are correct about
the main memory of a computer?

(a) Data gets lost from the main
memory when power is
switched off

(b) Main memory is slower than
the secondary memory

() Main memory is very
inexpensive memory

(d) All of the above

117. Which key of keyboard is used to
change the case of characters
from lower to upper?

(@) ESC

(b) Return

(c) Alt

(d) Shift

118,

Which of the following shortcuts
is used to search some text in a
Word document?

(a) Ctrl+ A
(b) Ctrl + H
(c) Ctrl+ F

(d) Ctrl+ S
T

115, i gay®' A daHs HY 95 &Y
MS-Excel f39 faggr fdg =afann
AT 7
(8) $

o(b) @

(), =
¢/

#

116. dfueg & vy ARt 99 Ist 53
Fust fid faga wdt 92
(a) Data gets lost from the main

memory- when power is
. switched off

(b) Main memory is slower than
the secondary memory

() Main memory is very
inexpensive memory

(d) Sug &3 A9

117. %437 € 9H § &8 3 Gug I
g et dftags &t faodt JHl
TSt At 32

(@@ ESC
(b) Return
(c) Alt

118. ¥93 Jgie ST I9 AT BAE B

Aier 37
(@) Ctrl + A
(b) Ctrl + H
(c) Ctrl+F
(d) Ctrl+S
| P.T.O.
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119. Which of the following will you
use to view webpages on your
computer?

()

(b) Remote server

()
(d) Web browser

Graphics software

System software

120. Which of the following is not an

example of operating system?
(a) Android

(b) Linux

(c) Microsoft Windows

(d) MS-Office

121. Portrait and Landscape are the

examples of

(a) Page size

(b) Page orientation
(c)
(d) Page layout

Page margins

122. Which of the following operations

will you perform if you need to
move some text in a Word
document?

(a) Copy and Paste
(b) Cut and Paste
(c) Paste and Delete

(d) Paste and Cut

119, 3ff »my@ dMuGes 3 Fw U §

ye Bt It a3 &9 fam <t =ad
J3d?
(a) Graphics software
(b) Remote server
(c) System software
(d) Web browser
120. 357 &3 &5 faozr Gudféar famen
dt Gerg9s &t 972
(@) Android
Crb) Linux
(c) Microsoft Windows
(d) MS-Office

121. Ugcde m3 S3rau It Geraas

J&
Mage size

(b) Page orientation

(c)
(d) Page layout

Page margins

122, 7199 37§ 93 Sgie <9 fan 2ane

3 ¥ 396 <t 83 I 3 3t I 193
&9 fagg™ aaw F391 72

@/éopy and Paste

(b) Cut and Paste

(c)
(d) Paste and Cut

Paste and Delete

/1-B
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123.

124.

125.

"1126.

/1-B

The basic unit of a worksheet
into which you enter data in
MS-Excel is called

(a) Cell

(b) Table

(c) Box

(d) Column

Which of the following is a
correct format of Email address?

(a) sample@gmail@com
(b) sample@gmail.com
(c) www.sample.com

(d) http.sample.com

Which of the following is not a
region in Punjab?

(a) Majha
(b) Doaba
() Awadh

(d) Puadh

What is the longitudinal extent of
Punjab? :

(a) 73-55° East to 76-50° East
(b) 73:55° West to 76-50° West
(c) 70-55° East to 76-50° East

(d) 70-55° West to 76:50° West

123, Tgadie & Hedt feardt fam fog
gHf MS-Excel f&9 327 g age
3 eng faar #ier 9

(a)

(b) Table

(c)

O (dy~Column

124, 357 fa3 &9 fagzT ¢his U3 = v
gaie I?

(a)

(9)/ sample@gmail.com

()
(d)

125, Iz fofimt £ fags™ e o 939
& 32

(2)

(b) TwgT

(¢} =g

(d) W

126.1?#@ T fowsdt femsa &t whm
faa&t 37

(a)
(b)
(c)
(d)

www.sample.com

H™ST

Cell

Box

sample@gmail@com

http.sample.com

73:55° yq¥ 3 76:50° Y3¥ I
73:55° UgH 3 76:50° U&H
70:55° Y99 3 76-50° YI¥ I

70-55° UgH 3 76:50° UgH

(31)
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(a)

128.

(a)

129,

130.

127. Who among the following Sufi

Saints is considered as the first
poet of Punjabi?

Sheikh Salim C-histi

(b) Sheikh Moinuddin Chisti
()
(d) Sheikh Nizamuddin Auliya

Sheikh Farid

Which of the following Mughal
chronicles mentions Punjab as
the territory that can be divided

~into provinces of Lahore and

Multan?

Ain-e-Akbari
(b)
()
(d)

Humayun-nama
Babur Nama
Badshah Nama

In the Mahabharata Punjab is
described as

(a)
(b) Panchsheel
()
(d) Panchmark

Pancha-nada

Panchmukh

Who wés the last Sikh ruler?
(@) Maharaja Dalip Singh
(b) Maharaja Ranjit Singh
(c) Jassa Singh Ahluwalia

(d) Hari Singh

/1-B

127. Iz fafimt &5 fan gt H3 8 Uar
o yfagT st wiew Aier 372
(a) W AIH famdt
(b) " Helats fomdt
(c) WY Bdie
(d) WY feaHdts A

128.
fanfequwa@@ﬂﬂzaeﬁhaa]

sﬂ?ﬁmwﬁﬁrnxwﬂa»@m

Y3t a9 Sfem 77 Haer J7
(a) WEE-T-naEdt

(b) THig-anT

(c) §HF FH

(d) S=EHT FH

Haees f¥g e w wd9ee _
eﬁaﬁs*ﬁmrrfin

129.

(,(b) Uoifts
(c) U9HY

(d) U9HTd

130, Myt fiy WA d< Hi?
* (@) HITWT @S fAw
(b) HIaTT S frhw
AT iy aragerdn
@) Tt

~ (c)

(32)
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131. Which of the following is a folk
embroidery art of Punjab?

(a) Basohli Art
(b) Pochampally
(c) Madhubani
(d) Phulkari

132. The ancient name of river Ravi is

(@) Purushni
(b) Vipasa
(c) Askini

(d) Sarsuti
133.In 1948, the Princely States of
Punjab which included Patiala,
Nabha, -Malerkotla, Jind,
Kapurthala, Faridkot, Nalagarh
and Kalsia were combined and a
new State of PEPSU was formed.

What does PEPSU stand for?

(a) Patiala and East Punjab

Students Union

(b) Patiala and Early Punjab

States Union

Pathankot and East Punjab
States Union ‘

(c)

(d) Patiala ‘and East Punjab

States Union

134. How many districts are there in
Punjab State? '

(a) 20
(b) 25
() 23
(d) 28

131, foget &9 fagdt damg &t 89 aerd
qBTI?
(a) THE! TBT
(b) TaHUEt
(c) Hg=al

12.97% st e ydfs s 3
(a) ygmat
(b) feymr
(c) mmfadt
¢ (d) TIEdt

133. 1948 &9, ¥arg <t fovmz fan &9
Ufemsr, &797, WBddesT, Hie,
YIS, Tdftede, sHEg w3
SBHMT HHS Hs, & fier 3 fea
32 I Wy’ gfor fap
yg = off »9g 37
(a) Ufensr w3 dine ¥ wgde

gams
(b) UfemsT w3 wIdt Uas AeeH
() USBae W3 ¥He VA HeH|

(d) / ufenrsT w3 dine UR™ Heen

TaMS

134. 4wy g fo9 fofs fad 9572
(@) 20

(b) 25
Jor”

23
(d) 28

/1-B
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135. The undulating plains and Kandi
area of Punjab are home of this
type of vegetation. In this
statement, the vegetation
mentioned is

(a) Tropical thorny vegetation

(b) Tropical dry deciduous

vegetation

(d) Subtropical scrub hill

vegetation

136. Who among the following Gurus
established the ‘Manji-system’?

(a) Guru Angad Dev ji
(b) Guru Amar Das ji
(c) Guru Ram Das ji

(d) Guru Arjan Dev ji

137. “In 1590, foundation of a new city
was laid between the rivers Ravi
and Beas by Guru Arjan Dev ji.”

What was the name of that city?
(a) Amritsar

(b) Batala

(c) Moga

(d) Tarn Taran

138. When was the first Treaty of
Lahore signed?

(@) 9th March, 1844
(b) 9th March, 1845
(c) 9th March, 1846
(d) 9th March, 1847

(c) Subtropical pine vegetation . .

135. “Uag @ G9 &2 fedt 939 Y
3t fesa fom famr <t gorudt §
w3 517 fom ggs a9, faag i
et gemudt . 9
(a) Ene d3v9 gaRyt
(b) FE yFd USEF FEAUS
() Su-gre dts womust
(d) Bu-Gre wfteg yardt ey

136. 35 fofim S5 fam Ig@ wfows 3
Het-ygw’ & maver fiFt 7
(a)@@hh?@??ﬁ |
(b) TG MHITH HHt

-

(c) T THEH #t

-—=

(@/a_'rgmam;éé;ﬂ

137. 1590 f<, @gmée;ﬁ\m
T w3 f Tfon 2 fegarg f&a
&< mfgg <t ata ft ardt

Bn mfgg = 3 ot Ht?
(a) ifi{3Ha

(b) =TT

(c) Ham

(d) 3J&3TS

138. 349 ot ufadt Adt '3 a9 oRys
A3 IE?

(a) 9 HI9, 1844
(b) 9 H'J9, 1845
(c) 9 W9, 1846
(d) 9WJ9, 1847
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[139. Who is the present Governor of 13 I?FI"E" 7 € Hge' TS ds I5°?
Punjab State? _ : 7 o
(a) Vijayender Pal Singh Badnore (@) us fHu
(b) Charanjit Singh Channi (b) FIHis friwr &t
(c) Harjot Singh Bains () a3 frhur Hn
(d) Banwarilal Purohit (9/ goTdl B Ydfas
140. Which of the following is the | 140-T€7s" &4 fagar vamw = o=
State animal of Punjab? &g I°7
(a) Blackbuck ' (a) @ fags
(b) Chinkara (b) foamar
(c) Wild Buffalo (c).-. Haret 1
. AN
141. Thgsa;er?;gfhweight of 4, B Ijmdf g | 141. A, BM3 Cc¥ WA3 9 gsﬁ?s J1
1s g € average weight o - 7 ) v
and Bis 61'5 kg and the average Heg 3 ,BET ol @ﬁ@
weight of A and C is 68-5 kg, then d, M3 Am3-CcT A3 IT
the weight of C (in kg)is - fa® 3, 3 Ccw EES (T‘a@ f&9)
(@) 65 | . <
(b) 67 () 65 M%
] : C -,
© 60 (b) 67 C,,/ﬂ‘ﬁ
(d) 68 (c) 60
: (d) 68
142. A motorboat goes 24 km in 2
fllgulzs along the stream and | 142,87 Aegie gor @ &3 2 W f&9
m in 1 hour against the fonft faudts ¢
stream. The speed of the 2:} i U?’T R .
motorboat in kilometers per hour fe9 10 fonft Szt A Hewse &
is 3837 fadteg ydt wer e &t 32
(a) 14 (a) 14
(b) 10 (b) 10
(¢) 11 () 11
d) 12 (d) 12
/1-B (35) [ P.T.O.
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146. If

143. Ravi, Mohan and Govind can

complete a task in 12 days, 10
days and 15 days respectively. In
how many days can Ravi, Mohan
and Govind together complete
the same task?

(@) 8 |

(b) 4

(€ 2

(d) 6

144. A, B and C started a business.

Twice the investment of A is
‘equal to thrice the investment of
B and also five times the

investment of C. If the total profit

after a year is ¥ 15-5 lakhs, then
the share of B in the profit
(in ¥ lakhs) is

(@ 7-5

(b). 3

(c) 45

(d) 5

145. If 3x+2y =7 and 4x-y =24, then
“x—y=?

(a) 9
(b) 1
(©) -9
(d) -1
the difference between
compound interest and simple
interest on a certain sum of

money for 3 years at 5% p.a. is
¥ 122, then the sum is

(a) ¥ 25,000
(b) ¥ 19,000
() ¥ 16,000
(d) None of the above

/1-B

"143.

144,

145.

146.

FHEg 12 fes, 10 fea »3 15 fiy
&9 ygr a9 Ha< I51 I, HIS mY
dfde fug o GF Ian § fd& feg
&9 Yo 99 Hae I57?

@ 8
(b)

(¢)
(d)
A, B3 C& foq an 53 1371 AW
Sa< foew B fasm @ fds e @
59T I3 e feem T A A8 §
H9'E J| Had o A'® @ g™ 98
IHt T 155 BY JUT J, 3T HAR
fS9 Be fJn (By que f<9) fda
Jar?
(@) 75
(b) 3
(€) 45
(d) 5

(£

oON D ool

Hod 3x+2y=7 M3 4x-y=24 J
3T x-y="?
(@) 9
(b) 1
(¢ -9
(d) -1

199 5% yF 78 3 3 vt B
fea forfes Tav '3 fimfaz fon
3 AIs fenma o9 »i3g v 122
U J, 37 feg ga fadat It .
(a) ¥ 25,000
(b) ¥ 19,000
(c) ¥ 16,000

(d) ug fo3 o9 It &t &

(36)
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147.

The value of x for which the
expressions 12-6x and 4x+ 2
become equal is

(@ O

148.

(b) 2
(€ 1
(d) 4

6
If =
7
then %th of the number-is

(a) 105

(b) 77

149.

(c) 80

d) 36

Evaluate [7+7*(7+7 / 1))+ 7/7
(a) 10 |
(b) 5

(c) 63

(d) 64

150. The value of

/1B

8-[8-(5+8)-{8-(8-5+8)}+10] is
(a) 5
(b) 20
(c) o

(d) 10

th of %th of a numt‘)eriis 192,

(37)

147 x & W5 &1 3 fAne B8 miwgs

148, 39 i et 2 S Qu i o S

" () 80

149, H3THE a9 :

\ (@ 10

150. 8-[8—(5A+8)—{8—"(8‘:—5'4'-8)5410]
SR (MO RS

12 -6x M3 4x+2 ¥99d J HQ
J5?
@ 0
(b) 2
(c)1
(d) 4

< fAr 1923, yﬁr&?w%ﬁm
off 32
(a) 105
(b) 77

(d) 36 .

(7+7*(7+7/7)+7/7

(b) S
(c) 63
64

§-(-S +3tb]
. A
(b) 20
()0
(d) 10
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